
Year 5 Homework A – 2nd February 2024

Multiplication

Reasoning Fractions

6 x 8 = .

4 x 8 = .

12 x 8 = .

2 x 8 = .

10 x 7 = .

12 x 7 = .

1 x 7 = .

7 x 7 = .

54 ÷ 6 = .

44 ÷ 4 = .

46 ÷ 46 = .

102 ÷ 1 = .

Time

Remember to also have a go at TTRS, Spelling Shed and Lexia (if you 
have it)! All links are on the class page.

Forgotten your login? Let me know!Shape

1. Solve these calculations:

Larry is facing South.
What mistake has Larry made?

2. Add these fractions together.
Remember: Both denominators need to be the 
same number before you add them together.

Miss Parker has calculated 
2

8
+

6

9
.

. 
2

8
+

6

9
 =

8

17

What mistake has she made?

What times are shown on the clocks?
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